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Pythagoras Problem solving homework
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[image: image3.png]A passenger aircraft takes off from an airport.
When it has Flown 1 kilometre it is 750 mefres from the airport.
What is the height of the aircraft above the ground?

(Correct to 1 deciml ploce)
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3. (a) In the diagram PS=4cm, SR=9cm and SQ = 6cm.
          Use Pythagoras to calculate the lengths of PQ and QR. 

    (b) Hence prove that triangle PQR is right angles at Q.

4. Use Pythagoras’ Theorem to set up an equation and solve for x.  Hence find the 2 missing sides.
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